
 

 

 régulière.��Voile��EN��A.��

Hypothèse��retenue��:��le��pilote��évolue��dans��une��zone��perturbée��aérologiquement��et��finit��par��tirer��le��
secours��suite��à��une��fermeture��non��contrôlée.��Le

��pilote��est��retrouvé��au��sol��avec��le��parachute��de��se�r
cours��non��ouvert.��

Conclusion��:��le��pilote��avait��un��niveau��de��pratique��en��inadéquation��avec��les��conditions��aérologiques��et��
le��parachute��de��secours��a��sans��doute��été��tiré��trop��tardivement.��

��

2. 18��janvier��à��15��h.����

Beau��temps��avec��conditions��anticy 1 T.4loniqie(s)]TJ
/TT3 1 Tf62.3579 0 TD
0 Tc
<0003>Tj
/TT6 1 Tf
.224 0 TD
.0005 Tc
d’h(ivr.s)Tj
/TT3 1 Tf
308724 0 TD
0 Tc
<0003>Tj
/TT6 1 Tf
.224 0 TD
-.0002 Tc
[Coonditions �� ��

Ppilote��de��42��ans��avec��une��pratique��régulière��du��parapente.��Pratiquait��le��speed��riding��depuis��deux��ans.��

Voile��de��speed��riding��de11��m².��

Hypothèse��retenue��:��après��avoir��déjà��effectué��plusieurs��runs,��le��pilote��s’est��élancé��pour

��le��dernier��de��
la��voulu��tester��la��mise��en��360°.��Le��pilote��a��impacté��une��barre��rocheuse��suite��à��la��réalisa�r

tion��de��ces��manœuvres.����

Conclusion��:��la��mise��en��œuvre��de��figures��nouvelles��nécessite��un��encadrement.��Le��




